2017-07-13 Navettapelit 13072017 Lopputulos

4 poytad, 8 paria. Jakomadra: 28. Keski: 84. Vertailu.

Sija Pari Pisteet % Vert Nimi Kerho

1 1 114 67,9 Henrik Laaksonen - Birger Salonen Salon Bk

2 7 95 56,5 2 Risto Noki - Robert Saltin Salon Bk

3 4 95 56,5 0 Outi Sékéajarvi - Rauno Tasala Salon Bk

4 8 80 47,6 Eeva Ilmarila - Jorma Vapaa Kulo Bridge - Salon Bk
5 3 79 47,0 Varpu Honkakoski - Eero Kallio Salon Bk - ei_merkitty kerho
6 6 78 46,4 2 Matti Rintala - Jaakko Viima Salon Bk

7 5 78 46,4 0 Tuure Salminen - Saara Kupiainen Salon Bk - ei merkitty kerho
8 2 53 31,5 Mervi Mikkola - Veli-Pekka Lukka Salon Bk

Jako: 1 Jako: 2

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
42 lv E +4 a2 200 60 42 24 W3 010 200 60
65 4v E = a6 -420 33 65 3N E = ¢K -400 42
73 4v E = ¢3 -420 33 73 44 W+l &) 450 24
81 4v E +1 10 450 06 81 44 W +3 w7 510 06
Jako: 3 Jako: 4

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
73 3N E -1 «6 100 60 42 2N W -1 &5 100 60
65 3v E = a4 -140 42 73 IN W +1 &5 -120 42
42 3N E +2 a4 -660 15 65 3N E = 3 -600 24
81 3N E +2 o2 -660 15 81 3N W +2 &5 -660 06
Jako: 5 Jako: 6

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
82 3v N +1 aA 170 60 82 44 W -3 &A 300 60
76 3v N = a9 140 42 53 480 W -2 ¢K 200 42
14 24 E -2 vK 100 24 14 260 W = oA -110 15
53 4v N -2 al0 200 06 76 24 W = oK -110 15
Jako: 7 Jako: 8

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
53 3N E -2 2 200 60 82 3N S +1 v6 430 60
76 4a E -1 92 100 42 53 3N N = a4 400 42
14 IN E = %2 90 24 76 3¢ N = 5 110 2 4
82 IN E +1 #2 -120 06 14 3N N -2 &6 -100 06
Jako: 9 Jako: 10

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
83 44 E -2 aK 200 60 17 3N N +3 ¢6 690 60
17 3v E +1 ¢K -170 42 64 5« N = ¢10 600 42
25 1lex E +2 «K 560 24 25 3N N -1 a5 -100 15
64 3N E +1 aK -630 06 83 3N S -1 %2 -100 15
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Jako: 11 Jako: 12

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
17 44 S +3 &8 510 51 17 4a N +1 v2 650 60
64 44 S +3 &8 510 51 25 3N S +1 3 630 42
25 480 S = &8 420 15 64 3N S -2 o7 200 15
83 44 S = &2 420 15 83 3N S -2 vl10 200 15
Jako: 13 Jako: 14

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
75 4v E -2 a6 200 60 75 44 S +1 9] 450 60
84 3v E -1 a3 100 42 36 3N S +1 »10 430 42
21 3v W = a8 -140 15 21 24 S +4 9] 230 24
36 3v E = a7 -140 15 84 2N S +3 ¢3 210 06
Jako: 15 Jako: 16

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
75 2N S +1 v6 150 60 75 44 S +3 v3 510 60
36 3a& S -1 vA -100 33 21 44 S +2 ¢A 480 24
84 S5« S -1 vA -100 33 36 44 S +2 oA 480 24
21 2N S -2 v6 200 06 84 44 S +2 ¢A 480 24
Jako: 17 Jako: 18

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
16 3% E +3 410 -170 60 85 60 W -1 vA 50 60
32 3% E +4 a8 -190 42 47 4¢ W = &7 -130 42
47 3N W13 e2 490 15 32 6v S -4 8 400 24
85 3N E +3 10 490 15 16 5ax S -3 8 -800 06
Jako: 19 Jako: 20

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
16 34 W -2 a6 200 60 16 3N W -2 «Q 200 42
85 IN N -2 v2 -100 42 32 49 E -2 ¢6 200 42
47 1a W2 &9 -140 24 47 44 E -2 8 200 42
32 3N N -3 v7 -150 06 85 3N E +1 v9 -630 06
Jako: 21 Jako: 22

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
27 IN E -1 &3 50 42 86 Svx W -2 a5 500 60
51 2& E -1 A5 50 42 27 4ax S -3 &4 -500 33
86 3¢ E -1 a2 50 42 51 6a&x N -3 vK -500 33
4 3 Pass 0 06 43 4 W = A9 -620 06
Jako: 23 Jako: 24

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
86 3N S = o5 600 60 86 3N S +1 ¢A 430 60
43 2% N = 10 90 42 51 2v E -1 a6 50 42
27 1a N = o2 80 24 43 3N N -2 3 -100 24
51 3N N -3 a3 300 06 27 IN W +1 &7 -120 06
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Jako: 25 Jako: 26

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
62 3v W -1 «6 100 60 54 3N N +2 vK 660 51
31 4e¢ S -2 vA -100 33 87 3N N +2 a8 660 51
87 4 S -2 &l -100 33 31 3N N = a8 600 24
54 29 W +1 2 -140 06 62 2v S +2 &A 170 06
Jako: 27 Jako: 28

Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
62 4v N +1 vQ 450 60 62 3N E -3 a2 150 60
54 3N N +1 «K 430 42 54 2¢ W = 92 90 42
87 2v N +3 &K 200 24 31 24 W = oA -110 24
31 4v N -1 8 50 06 87 5v N -2 &l 200 06
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